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QUESTION 1

Refer to the exhibit. 

A pool member fails the monitor checks for about 30 minutes and then starts passing the monitor checks. New traffic is
Not being sent to the pool member. What is the likely reason for this problem? 

A. The pool member is disabled 

B. Monitor Type is TCP Half Open 

C. Manual resume is enabled 

D. Time Until Up is zero 

Correct Answer: C 
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QUESTION 2

What should the BIG-IP Administrator do to apply and activate a hotfix to a BIG-IP device that is currently running
version 11.0.0 on active partition HD1.1? 

A. 1. confirm that 11.0.0 is installed on inactive partition HD1.2 

2.

 apply a hotfix to partition HD 1.2 

3.

 activate partition HD1.2 

B. 1. reactivate the license on partition HD1.1 

2. apply a hotfix to partition HD1.1 

C. 1. activate partition HD1.2 2 confirm version 11.0.0 on partition HD1.2 

3. install a hotfix on partition HD1.2 

D. 1. set partition HD1.2 active 

2. apply a hotfix to partition HD1.2 

Correct Answer: A 

 

QUESTION 3

The BIG-IP Administrator needs to avoid overloading any of the Pool Members with connections, when they become
active. What should the BIG-IP Administrator configure to meet this requirement? 

A. Different Ratio for each member 

B. Same Priority Group to each member 

C. Action On Service Down to Reselect 

D. Slow Ramp Time to the Pool 

Correct Answer: D 

 

 

QUESTION 4

A site has six members in a pool. All of the servers have been designed, built, and configured with the same
applications. It is known that each client\\'s interactions vary significantly and can affect the performance of the servers.
If traffic should be sent to all members on a regular basis, which loadbalancing mode is most effective if the goal is to
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maintain a relatively even load across all servers? 

A. Ratio 

B. Priority 

C. Observed 

D. Round Robin 

Correct Answer: C 

 

 

QUESTION 5

The current status of a given pool member is unknown. Which condition could explain that state? 

A. The member has no monitor assigned to it. 

B. The member has a monitor assigned to it and the most recent monitor was successful. 

C. The member has a monitor assigned to it and the monitor did not succeed during the most recent timeout period. 

D. The member\\'s node has a monitor assigned to it and the monitor did not succeed during the most recent timeout
period. 

Correct Answer: A 
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